
. ' 
~2-, 

II - u' " , - , , V = V 5111 <p ,- W COS (P. W = - V COS Cf -1- w sin cp, 
dlt du' tIL' dv'. dw dID dt)' dUJ' • 
dl = dl' ,il = Tt 510 q> + 7ft COS <{I. di = - fl ('OS cp + tfi Sill Cp', 

I , •• 

It ~ Il, V = V Sill cp - loCOS CPo w' = v COS cP + IV sin .cp, (G) 

du' du 
dT = di' 

dt)' dv. dUJ 
Ill:; CiI 510 cp - dt COS <Po dID' du ' dU) ' • 

~ = til COS ,CP + Tt SlD <P, 

duO • t Op DCfI 
Tt- 200v + P h' + oz' =::& 0, 

dv' + 2oou' I .!. op , o<D .:.. 0 
dt . T P i}!J' loy' , 

(16) 
dill' I .!. ()p I (iq) = 0 ' 

S~ttinG , as in (1) dt ~? i);' T iJ::' • 

We have 

Q = 1l1'oln .L _L Q> 
Po' • 

2 Cp R1' A __ T-To 
C = C; 0, v To ' , 

u;- 2oov' + Qx' = - [0 (Qx' - <D.x") + u'u: + v'uv + w'u:) ==~, 

1'; + 2oou' + Q'l ~ - [0 (Q1/' - <DI/') + u'v~ + v'v~ + w'v~] == p;. 
, , Q 1'<1. (Q 'T'» " "'" " ] po W, T :' = - If . " - ..... ' -r u W z I V Wv T W W, .-= ~ a' 

1 Q " • , Ci" ':- ux' + VV-+ w,_ = 

= - ;2 [u ' (Qx' - <Dx ') + Z/ (QIf - <I>1f) -I- w' (Qz- ~ a>.,)] == F: 

(7) 

" 

Considering here that the magnitude 1/c2 is negligibly s11ght" 

~;.:cluc:.ing u', v' , and 'W' from (7), we get for Q the equation 

a -200, 0, a . 0 
- 2u>, 0, F~ Tt, az iii ' 

200. a 0, a 26), 0 0, F~ TI' cJy' iil' 
iJ a Q= a = P<Q). (8) 

0 0, 7il' 0;' 0 0, iil' F~ 
a a a 

° 
0 a 0 

F: 
(/z' • (/1/ ' 0;' , OZ' , au' , fJ.' t 

0l-ening the de terminant on the left side we have 

(a' II ...L!. '1 as) Q _ P<Q) (9) 
'.vher~ 

\i1l2 1 I J~ 0:''' ! ..,-- , 

02 iP (J' 

~1 = OZ'2 + ay" + 0;:" . ' 

The solution of (9) for ' limitless space has the form [1]. 

and 


